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With which U.S. president is the policy of detente associated?

1) Ford 2) Nixon 3) Reagan 4) Kennedy

Which Amendment to the U.S. Constitution failed because of well-organized and
passionate opposition from conservative organizations despite widespread congressional
and popular support and ratification by 35 States?

1) child Labor Amendment of 1924 2) Corwin Amendment of 1861

3) Equal Rights Amendment of 1972 4) D.C. statehood Amendment of 1924
In which of the following wars did the United States suffer the most casualties?

1) Civil war 2) Vietnam war 3) World War I 4) World War 11

According to Articl I, section 3, of the United States Constitution, how senators are
supposed to be elected?

1) Elected by the people of the state 2) Elected by an electoral college

3) chosen by the state governors 4) chosen by the state legislators

Which supreme court decision declared that "separate but equal" facillties were
constitutionally permissible?

1) Scott v. Stanford 2) Plessy v. Ferguson

3) Lochner v. New York 4) Brown v. Board of Education

Which of the following acts reduced Indian lands from 138 million to 48 million acres?
1) The Dawes Act 2) The cherokee Act

3) The Homestead Act 4) The Indian Act of 1887

Which of the following presidents secured his presidency because of a supreme court
decision?

1) Richard Nixon 2) George H.W. Bush 3) Calvin Coolidge  4) George W. Bush
which supreme court decision equated anti-aborfion right with a violation of a woman's

right to privacy?
1) Roe v. Wade 2) Romer v. Evans
3) Furman v. Georgia 4) Webster v. Reproductive Health services

What was the spoils system?

1) An Anti — corruption system during the Gilded Age

2} A program for job creation during the Great Depression

3) A system for exporting surplus resources during the Hoover Administration

4) Awarding jobs for political purposes and the driving force of party politics during Andrew
Jackson

Which of these American figures advocated a gradual emancipation of slaves followed by
colomization in Africa?

1) Du Bois 2) Frederick Douglass

3) Abraham Lincoin 4) William Lloyd Garrison

Under which American president was the open Door policy formalized?

1) President James Monroe 2} President william Mckinley

3) President Herbert Hoover 4) President Theodore Roosevelt

Which war was mainly fought based on the Monroe Doctrine and Open Door Policy?
1) The war of 1812 2) The Mexican war

3) The Spanish American war 4) The Vietnam war

Which statement best describes the root cause of the American Civil War?

1) To end slavery 2) A clash of elite interests

3) Reconciliation with the South 4) To settle armed abolitionist insurrections
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Which was not part of the Emancipation Proclemation?

1) A military move to bring the South to its knees

2) Abolition of slavery in all of the United States

3) An ultimatum to those states that did not give up fighting

4) Allowing those states that came over to the North to keep slavery

The Temperance Movement took shape during which period in American history?

1) The Gilded Age 2) The progressive Era

3) The second Great Awakening 4) The first Great Awakening

Which economic practice was a derivative of social Darwinism and in which period of
American history was it most starkly preached?

1) laissez faire, Gilded Age 2) laissez faire, Early 18" century
3) welfare state, Early 20" century 4) Welfare state, the industrial period
Who was Ida B.wells?

1) A black woman who fought for women's rights

2) A black woman who pressed for economic equality for blacks

3) A black woman who launched a black women suffrage movement

4) A black woman who launched an anti - lynching campaign

What colonies did the Unites States seize from Spain at the end of the Spanish-American
war?

1) Philippine, and Cuba 2) Mexico, and Philippine

3) The Philippines, Puerto Rico, and Guam  4) Puerto Rico, Mexico, and Cuba

What doctrine does the following sentence signify?

"An attempt by any outside fore to gain control of the Persian Gulf region will be
regarded as an assault on the vital interests of the United States of America, and such an
assault will be repelled by any means necessary."

1) The Carter Doctrine 2) The Bush Doctrine

3) The Truman Doctrine 4) The Clinton Doctrine

Name the agreement between the United States and Iran under which the United States
promised to refrain from military and political interference in Iran's internal attairs.

1) The Bughdad Agreement 2) The Paris Agreement

3) The Tehran Agreement 4) The Algiers Agreement
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Das oberste Gesetzgebungsorgan und das Zentrum der politischen Willensbildung in
Deutschland ist .... .

1) Landrat 2) Landtag 3) Bundestag 4) Bundesrat
Welche Partei ist in einer so genannten Jamaikakoalition nicht vertreten?

1) SPD 2y CDhU 3 FDP 4y Die Griinen
Die in Deutschland aktive FDP ist die Abkiirzung fiir .....

1) Freie Deutsche Partei. 2) Freisinnig-deutsche Partei.

3) Freie Demokratische Partei. 4) Freisinnig-demokratische Partei.
Welcher wurde am 18. Oktober 1989 als Staats- und Parteichef der DDR abgesetzt.
1) Hans Modrow 2) Egon Krenz 3) Walter Ulbricht 4) Erich Honecker
Die aktuell beiden grifiten Parteien Deutschlands sind .... .

1) SPD und CSU 2) CDU und SPD 3) CDU und CSU 4) SPD und die Griinen
Wann begann die deutsche Weimarer Republik? Im Jahre ......... :

131918 2) 1929 3) 1933 4) 1945

Das Jahr 1989 ist von dem folgenden politischen Ereignis gepriigt, ..............

1) dem Riickiritt Kohls als Bundeskanzler.

2) dem Zusammenbruch der kommunistischen Herrschaft in der DDR.

3) dem Beitritt der BRD zur EG (Européischen Gemeinschaft).

4) der Wiederaufnahme diplomatischer Beziehungen zwischen BRD und der Sowjetunion.,
Wer hatte iiber den ersten Kampfeinsatz dentscher Soldaten seit 1945 zu entscheiden?

1} Der Bundesprisident Wulff 2) Die Regierung von Schrider

3) Der Bundestag unter Carstens 4) Der Aulenminister Westerwelle

Die gerade in Deutschalnd herrschende Regierung besteht aus einer Koalition von ....
1) SPD und FDP 2) CDU und SPD

3) SPD und den Griinen 4y CDU-CSU und FDP

Welcher deutsche Politiker verstand sich als ,,Enkel Adenauers*?

1) Ludwig Erhard  2) Willy Brandt 3) Kurt Kiesinger 4) Helmut Kohl

Die im Zweiten Weltkrieg als ... bezeichneten Liinder (USA, England, Russland)
haben den Krieg fiir sich entschieden.

1y Allierte 2} Verbiindete 3) Allméchtige 4) Konfoderierte
»APO% (1966 entstanden) ist die Abkiirzung fiir .......... .

1) Antipolitisches Organ 2) AubBerparlamentarische Opposition

3) Antiparlamentarische Obrigkeit 4) AuBenpolitische Organisation

Helmut Kohl wurde 1982 ... zum Bundeskanzler.

1) nach dem Miltravenvotum gegen Helmut Schmidt

2) nach dem Sieg der CDU bei den Bundestagswahlen

3) nach dem Riicktritt Willy Brandts als Bundeskanzler

4} nach dem Inkrafttreten eines Gesetzes, nach dem Ludwig Erhrad nicht mehr als 16 Jahre als

Bundeskanzler regieren durfie,
Wie wurde die Berliner Mauer in der SED-Propaganda genannt?
1) Die Mauer im Kopf 2) Der antifaschistische Schutzwall
3) Die kapitalistische Westmauer 4) Die antiwestliche Blockade

~===- ¢rreichte 1871 mit seiner geschickten Machtpolitik die deutsche Einigung und die
Griindung eines Kaiserreiches unter PreuBischer Fiihrung.

1) Hindenburg 2) Wilhelm der Erste

3) Otto von Bismarck 4) Wilhelm der Zweite

Der CDU-Politiker Ludwig Erhard gilt als ,,Vater* des/der deutschen ..........7
1) Wirtschaftswunders 2) Pfingstbewegung

3) Kapitalismus 4} Militirreform
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Der Bau der Berliner Mauer durch die DDR wurde mit dem Zweck verfolgt, ....
1) um mit der Abriegelung der Grenze die freie Fahrt der BRD-Biirger in die DDR zu
erschweren.

2) um die Reise der DDR-Biirger in die BRD strenger kontrollieren zu kénnen.

3) um die diplomatischen Beziehungen zur BRD endgiiltig abzubrechen.
4) um den steigenden Fliichtlingsstrom zu stoppen.

Am 14. August 1949 wurde .......... gewiihlt?

1) der erste deutsche Bundespriisident 2) der erste deutsche Bundestag

3) die erste deutsche Bundeskanzlerin 4) die erste deutsche Nationalversammlung
Der Sieg Ottos des Zweiten iiber die Ungarn im Jahre 962 .....

1) bedeutete das Ende der Machtpolitk des Rémischen Reiches in der Welt.

2) hatte die Unabhiingikeit des Deutschen Reiches vom Rmischen Reich zur Folge
3) begriindete seine Kaiserkrénung und bedeutete die Geburtsstunde deutscher Nation
4) hatte die Zersplitterung der deutschen Staaten in den folgenden Jahren zur Folge

Der Volksmund bezeichnete Konrad Adenauer als .......... ?
1) ,der Unnachgiebige™ 2) ,der Schlaue®
3) ,der Alte* 4) ..der Mutige"”
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Las dltimas posesiones ultramarinas de Espanaque inmediatamente quedaron bajo la
administracién militar estadounidense:

1) Cuba v Haiti 2) Cuba v Puerto Rico

3) Haiti y Puerto Rico 4) Cuba y Puerto Rico y Haiti

El primer pais de Sudamérica en elegir un presidente de origen indigena fue:

1) Bolivia 2) Paraguay 3} Ecuador 4] Guatemala
La fundaciin de la Real Audiencia de Santo Domingo es para ———--——.,

1) conquistar Jamaica 2) limitar el poder de Diego Colén.

3) anular las Capitulaciones de Santa Fe. 4) importar esclavos negros de Africa.
El Tratado de Tordesillas garantizaba ---—--- :

1) la soberania de Azores para Portugal.

2} el dominio de las tierras africanas.

3) el dominio de las Canarias por Castilla.

4) que lo descubierto por Colan era de la propiedad de Castilla.

El primer gobernador de las Antillas fue -————-,

1) Diego Coldn 2) Cristobai Coldn.

3) Fray Nicolds de Ovando 4) Un grupo colegiado de los jerénimos
Los indigenas en sus comunidades llamadas las --——--- recibian instruecion religiosa.
1) Audiencias 2) Reducciones 3) Intendencias 4) Gobernaciones
El maximo drgano en asuntos americanos en Peninsula fue ——---—-- =,

1) El Virrey 2) La Audiencia

3) El Consejo de Indias 4) La Casa de la Contratacion

+En qué consiste la Aristocratizacion de [as élites?

1) Garantizar |a continuidad del proceso colonizador

2) Constituir pueblos en los que obligatoriamente eran concentrados los indios.

3) Otorgar titulos nobiliarios a los mineros, comerciantes, hacendados y funcionarios

enriquecidos.

4) Un mecanismo eficaz de afianzamiento social de las élites econémicas y de distanciamiento
social.

El clero regular se destacd por --—-—-—--,

1) la defensa de los indios

2) la creacion de las Intendencias

3) la proteccidn de los conquistadores

4) la tutoria de las comunidades cristianas europeas instaladas en América

El primer pais latinoamericano en recibir el reconocimiento de los Estados Unidos (1822)

y de Gran Bretfana (1825) fue —--—--- -

1} la Colombia de Bolivar 2) México de Itarbide

3) Venezuela de Pdez 4) Argentina de San Martin
Uno de los objetivos prinecipales de la politica liberal consistia en --~-eeeem- g

1) el debilitamiento de la gran hacienda.

2) el sometimiento de la Iglesia al Estado.

3) la expansion exportadora que se inicia en 1870,

4) la politica y la economia en las generaciones siguientes.
La lengua de los mayas:

1) nahuatl 2) guarani 3) quechua 4) maya
El fundador de Uruguay fue --------- ,

1) José Gervasio Artigas 2) José de San Martin

3) Bernardo O’ Higgins 4) Antonio Narino
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La década de los ochenta, la llamada Década Perdida, fue muy complicada para Chile,
1) en el campo social 2) en el campo cultural
3) desde el plano de la politica 4) desde el plano de la economia
El Conflicto de Cien Horas entre Honduras y El Salvador es conocido como -—<------,
1) la Guerra del Chaco. 2) la Guerra Chiquita
3) la Guerra de Futbol, 4) Ia Guerra de la Triple Alianza.
Actual presidente de Brasil: ----------
1) Lula da Silva 2) Dilma Rousseff
3) Itamar Franco 4) Fernando Henrique Cardoso
La politica del Buen Vecino fue ------ S

1) un programa realizado por los paises latinoamericanos.

2) un proyecto presentado por Bill Clinton para incrementar el libre comereio.

3) una politica creada por Roosevelt que buscaba la solidaridad hemisférica contra amenazas
exteriores.

4) un plan presentado por Jimmy Carter sobre la soberania del Canal de Panama.

El ALBA es un ----—--- .

1) programa de intercambio comercial entre los paises americanos,

2) programa dirigido a reducir la colaboracion econdmica entre América Latina v el Caribe.

3) proyecto de colaboracion politica, social ¥ econdmica entre los paises latinoamericanos y el
Caribe.

4) proyecto de intercambio de productos petroleros.

El Populismo en América Latina surgié en los anos —-----,

1) cuarenta y cincuenta 2) ochenta y noventa

3) setenta y ochenta 4) veinte y treinta

El que puso fin a mds de cuarenta anos de dictadura somocista en Nicaragua en julio de

1979 fue ——--—---- :

1) la Unién Nacional Opositora (UNO)

2) el Ejército Revolucionario del Pueblo (ERP)

3) Las Fuerzas Armadas Revolucionarias de Colombia (FARC)

4) el Frente Sandinista de Liberacién Nacional (FSLN)
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61. The term ‘splendid isolation’ is 19" century British history ................e

1)) refers to Britain’s ‘covert” political operations in the colonies in its rivalry with France

2) explains the Tull in British politics right after the victory over the French in the Battle of
Trafalgar

3) refers to Britain’s lack of interference in Irish affairs for a brief period the Irish famine of
1846

4) coined by a Canadian politician to praise Britain's lack of involvement in European affairs

62. In British history, Land War (1879-82) was a campaign of protest which arose out of

agricultural depression in.......cce... and originally took the form of a demand for rent
reductions.
1) Scotland 2) India 3) Ireland 4) South Africa

63. Which of the following is the correct order of the succession of British monarchs in the
early 20" ¢.?

1) George V2> George VI 2 Edwards VII= Edward VIII

2) Edwards VI George V-=2>Edward VIII=2George VI

3) George V->Edwards VII=> Edward VIII=>George VI

4) Edwards VII-» Edward VII[-=>George V= George VI

64. Which of the following two were British Prime Ministers during World War 17?

1) Herbert Henry Asquith and David Lloyd George

2) Ramsay MacDonald and Herbert Henry Asquith

3) Sir Edward Carson and Ramsay MacDonald

4) David Lloyd George and Andrew Bonar Law

65. In British history, abolishing the Irish Parliament and giving Ireland representation at
Westminster........ccovveeeaas

1) happened in the first government of Gladstone (1868-1874)

2) took place after the Act of Union 1800

3) occurred during WW [, shortly before Easter Rising, 1916

4 happened after the Government of Ireland Act, 1920

66. The West Lothian question refers to issues concerning the ability of Members of
Parliament from consfituencies in Northern Ireland, Scotland and Wales to vote on

matters that only affect.........coerneinnnn
1) members of the Commonwealth 2) the European Union
3) people living in England 4) former British dominions in Africa

67. The ‘historic counties’ of England are subdivisions of England established for
Aadministration..........eesses
1) by the Normans and often based on earlier Anglo-Saxon kingdoms and shires
2) by the Elizabethans following findings by the new emerging geographic sciences in the 16"
century
3) in the Victorian era after the First Reform Act made reform in delineating historical
boundaries an imperative
4) through an initiative in the British Parliament calling for enlargement of the present counties
68. Which of the following post-World War II British Prime Ministers did NOT belong to
the Conservative Party?

1) Anthony Eden 2) Harold Macmillan
3) Edward Heath 4) James Callaghan
69. The UK poll tax riots, or the Battle of Trafalgar, took place...................

1) to protest against a 1941decision to raise revenues for War with Germany
2} in the 1950s before Winston Churchill’s re-election as Prime Minister

3) late in the premiership of Margaret Thatcher in 1990
4) a few weeks after Britain joined the European Union in 1973
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70. The Wars of the Roses were a series of.......ccceu

1) English naval wars with France during in the first half of the 18" c.

2) dynastic civil wars for the throne of England between 1455 and 1485

3) skirmishes turned major battles prior to the Civil War in the mid-17" .

4) long battles fought on Irish soil in mid 17" c. for English domination

71. The Anglo-Saxon settlement of Britain—specifically the arrival of the Anglo-Saxons in
Britain—took place.......ccciieanne

1) before the Roman Conquest of Britain in 43 AD

2) just before the 1066 Norman Conquest

3) in the Neolithic age about 9300 BC.

4) after the demise of Roman rule in the 5th century

72. Jerry Adams, president of Sinn Féin (from 1984) has best masterminded the policy
1 PO

1) intense international propaganda “to win hearts’

2) supplementing the bullet with the ballot box

3) replacing ‘political might” with *military right’

4) armed intervention coupled with civil struggle

73. According to the Anglo-Irish Agreement of 15 November 1985, the governments of the
United Kingdom and the Republic of Ireland basically agreed that...................

1) the British would respect advice by the Irish government concerning N. Irish Catholics

2) Northern Ireland would remain a part of the UK according to the wishes of its majority

3) Britain would pursue its border disputes with the Republic of Ireland only through political
means

4) inflow of Republic of Ireland nationals into Northern Ireland would no longer require a
passport

74. Empire Free Trade was a term popularized in the late 1920s by those in the
Conservative Party, industry and the press who favoured........cccean.

1) export to all countries in the world, but import from British dependencies only

2) liberal free trade between the countries of the empire and those outside it

3} a no-tariff economic relationship between Britain and the countries within the empire

4) reduced tariffs in imperial goods relative to those imported from outside the empire

75. The first universal benefit of the modern British welfare state was.......... eeressnsensill 1945,
which was backed by Churchill (despite his profound reservations regarding the
Beveridge report in general).

1) Charitable Bequests Act 2) Civil Registration Act

3) Family Allowances Act 4) Employers and Workmen Act

76. Which of the following about the British PM Arthur Balfour is NOT TRUE?

1) He established the Committee of Imperial Defence and set up the War Office .

2) Britain's relationship with France ebbed to a record a low in his term as Prime Minister.

3} In his premiership, Britain took sides with the Japanese in the crisis of the Russo-Japanese
War.

4) He came into power at the coronation of Edward VII and the end of the South African War.

77. Devaluation of the pound (18 September 1949) in Britain, in which the currency was
devalued by roughly a third, and brought Labour’s post-war reform programme to an
end was caused by.....ccuniin

1) a downturn in the US economy in the late spring of 1949

2) spiralling administration costs in the colonies after the War

3) ambitious defence budgets to maintain a superpower position

4) near zero consumer spending due to post-war economic inflation

MMQNUg)éM)'@Hu)UQhW‘s)b'ue}?T
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78. The 1948 National Service Act, demanding compulsory military service, was.....sei.
1) in force until early in the 1960s 2) abolished in 1979 before Thatcher’s government
3) never enforced in practice 4) revoked in 1953 due to economic reasons

79. Which of the following about Old Age Pensions in NOT TRUE?

1) It was introduced by Lloyd George in 1908,

2) It was initially paid to eligible over the age of 70.

3) In 1940 the age at which women qualified for their pension was reduced to 60.

4) It was originally developed as part the post World War I appeasement of the poor.

80. The 1963 Peerage Act made it possible.......ccccerrns

1) for ‘outstanding members’ of the Commons to become hereditary peers

2) to bestow life-time peerage on the leaders of the Commonwealth

3) to disclaim an hereditary peerage for life for election purposes

4) for a member of the House of Lords to serve in the Commons at the same time

MMQNUg)éM)'@Hu)UQhW‘s)b'ue}?T
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Kakoii 3 nmxeykazanubix orseror o HOIe apanerca nenpasnisibivm?

1) H211 mposomumace ¢ 1921 r. mo korua 1920-x rr.

2y HOI1 semouana B celd M0NY e HHE KANWTAIHCTHYECKHNY MIEMEHTOR,

3) H3I1 coxpanuna koMaHHbIE BRICOTE! B pyKaxX 4ACTHBIX NpeanpHHEMATEIei.

4) HOIl nposommnack COBETCKHM TOCYJApCTBOM C© UENBH) BOCCTAHOBJICHHA HAPOAHOTO
X03gHCTRA,

Kak naswiBaercs mepexoanoe npaswrenscrso 1610 roma, nocae nopamenHs soiick
Bacnaua lyiickore o1 noaaxos?

1) 3emckuii cobop 2) CemuboapimiHa

3) Boapckoe npaBuTeNBCTRO 4) BpeMeHHOE NPaBHTENBCTBO

KakoBa 6bi1a ocHOBHAR HPHYHEA pasrona Bepxosuoro cosera Pocenn B 1993 roay?

1) axoHOMHYECKHI KpHIHC

2} orposusit suemmui nonr Poccan

3) BoCCTaHWE BOOPYeHHEIX cHI Poceriickoii Peaepalnu

4) KOHCTHTY MHOHHEI KPHZHC H KOR(IHKT ABYX NOIHTHYECKHX CHI

Kakas noJMTHYecKas rPyNna opraHuiosaaa noKymeHHe, B pe3yabTaTe KOTOPOro norud
Anexcanap H?

1} «3emng 1 BoJIAR 2) «MepHas 3HAMAR

3) «Hapoanas Boms» 4) «Haponnoe npaso»

Kakoii n3 HinkeyKaiaHHBIX 0TBETOB 0 NEpecTpoiike ABIHETCH HENPABHILHBIM Y

1) [epectpoiika npoucxoanna ¢ 1985 mo 1993 rogel.

2) IMepectpofika Okina HANPABIEHA HA OKOHYAHHE XOJ0AHOH BOHHEL

3) Hepectpoiixa uMena LENbIO Pa3BHBATE JEMOKPATHIO H ITACHOCTS.

4) Iepectpoiika — Mpolece KOPEHHOTO H3IMEHEHHA IKOHOMHKH H ODILECTBEHHOTO COIHAHMA,
Kak naspiBajiach ¢HCTEMA 4pe3BbIMAlIHBIX Mep, ocyumecTeiaednbix Heanom I'posabim
s pazrpoMa GoApCKO-KHIAZKeCKoi ONMO3HIHA B YKPeIJIeHHA caMoaep:xasHa?

1) ynpaga 2} 3eMCcTBO 3) mecnoTHs 4) onpHYHHHA
B kakoii 6HTBe CpazkaaHCh APYT MPOTHS JIPYra pyCcKHe H I BeICKHe Boiicka?

1} B butee 3a Jlnenp 2) s lonrasckoil GuTee

3) B Mockoeckoi GHTES 4) B buree na Kypekoit myre

Kax HazeiBaercA MOKYMEHT, GPOPMHBIIHNA cO3IaHHE BOSHHOTD COI3A EBPONEHCKHX
CONHATHCTHYECKHX rocylapeTe NpH Beaymeil poan Coeerckoro cowsa?

1) Bpectckuit norosop 2) bepauHCKHiE AoroBOp

3) Bapmagckmii 1orosop 4) CepepoatnaHTHUYECKHI 10T0BOP

Kakoii m3 HxeykazaHHbBIX OTBeTOB HE uBasercd Hrorom Pesowmun 1905-1907 rr. B

Poccun?

90.

91.

92.

93.

1) Paccrpen uapckoii céMBH

2) Cronuimmuuckas arpapHas pedopma

3) maumuect, TapoBABIIN IpaXKIaHCKHE CBODOIEI

4) BOSHHKHOBEHHE PasTHYHBIX NMOJHTHYECKHX NapTHH B IPYNMHPOBOK
B kaxom roay cocroanock Kpemenne Pycu?

1) B 889 roay 2) B 918 romy 3) 8 980 rogy 4) B 988 rony
Kakoii pyccknit moJiuTHMECKHI AesgTe b Ob11 vOUT BHE npeneaos Coperckoro comsza?
1) JI.b. Kamenen 23 JLJL. Tpouxwii

3) H.WU. byxapun 4) I'.E. 3unosnes

Kaxoii pyccxkmii uape He 6611 03 qunactan Propukosngeii?

1) Anexcen Muxaiimopry THinaiumi 2) Bnagumup Moromax

3) Apocnas My nprrii 4) Uran [possii

Ha kaxoit naomann [erepbypra dbL10 mogasacHo BoccTanme aexabpucron?

1) Ha Mcaaxknepcroii nmaomanm 2y na TearpaneHol MIOLLEH

3) Ha Hukonasckoii miomaax 4) na Cenatckoil niomanm

MMQNUg)éM)'@Hu)UQhW‘s)b'ue}?T
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94, Kakue noadrakn or uvenn Poccwu um Hpana noanmcanu DronmcraBcknii MEpPHBIH

morosop?
1) A.C. I'puboenos, Mup3a Abyn-Xacan-XaH 2) H.®.Prames, Mupza Abyn-Xacan-Xan
3) A.C. I'puboenor, Abbac Mupsa 4) H.®.Prumes, Ab6bac Mupaa

95. Kak HajpiBaercs BOCHHAH ONEPAalHH HeMUEE ¢ uUeasi Bropxkenns B CCCP nua
HaYaabLHol cragun Bropoii muposoii Boline1?

1) omepanms « Y paay» 2) onepanus «Mapey

3) onepaums «Konsmos 4) onepaus « bapbapoccay
96. B kaxom roay 6e1a mabpan Muxawn ®enoporpny Pomanos napem Poccun?

1) B 1611 romy 2) e 1612 rony 3) e 1613 romxy 4)B 1614 romy
97. Kakoil kHA3E 0611 YOHT nedeneramu B 972 roay Ha AHeNPOBCKHX BopoTax?

1) Urope Piopakosray 2) Cearocnas Hropeen4

3) Apononk CeaTocnaeguy 4) Brnagpvup CRAaTOCHABHY

98. Korjga m kakum aorosopom ObLia 3asepmena Pyccko-anonckas Boiiaa?
1) 1905 r., MaHs®wKY PCKHM MHPHBIM JOTOBOPOM
2) 1904 r., MaHp4YKY PCKHM MHPHBEIM TOTOBOPOM
3) 1905 r., INopremy TCKHM MHPHBEIM JOTOBOPOM
4) 1904 r., ITopTcMy TCKMM MHPHEIM JIOTOBOPOM
99.  Yro nogpazymeBaeTcs Mol TEPMHHOM «0TTENe by ?
1) Bpems HaCTYMIEHHA HEKOTOPBIX NONHTHYECKHX cBoOOm, ocnablieHHs HEecTKOro
MVIHTHHECKOID PEHHMA !
2) oTkpeITad B MoNHAA HWH(poOpMamHA o Mo00ii ODIIECTBEHHO 3HAYHMOIN NEATENBHOCTH H
BO3MOMKHOCTE €€ cBOBOIHONO H HpoKoro obcy K aeHus
3) NONHTHKA, 3aKTOYAIOINIAACH B HATHETAHHH HANPMKEHHOCTH, Bpa#ne0HOCTH B OTHOLIEHHAX

MEXIY CTpaHAMH
4) BpeMa 3aMeIIEHHOTO PAIBHTHA 3KOHOMHKH, NACCHBHOIO, BAJIOTO COCTOSHHA 0DIIECTBEHHOH
H3HA

100. Hacrosnman dpamuaaa H.B. Crannna Gbraa .....

1) [y ramsmTH 2) YnearoB 3) l'enanse 4) Koba
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Partie A : Histoire

Répondez aux questions suivantes en hant la réponse correcte :

101. Quel est le nom donné par les auteurs anciens i la Gaule celtique indépendante par opposition 4 la
Gaule du Sud conquise par Rome ?

1) La Gaule du midi 2) Gallia togata
3) La Gaule chevelue 4) La Gaule Belgique
102. Le premier versant du XVII® siécle est caractérisé par une instabilité & la fois ...
1) religieuse et politique. 2) économique et sociale.
3) culturelle et artistique. 4) idéologique et littéraire.

103, Quel événement marque le début du Moyen Age ?
1) L’usage de I'écriture.
2 L’essor de la civilisation grecque.
3) La constitution de I’Empire romain.
4) La chute de I"Empire romain de I"Occident.
104. Charles VII a su imposer ... & la fois au pape et au clergé de France par la pragmatique sanction
de Bourges (1438).
1) le laicisme 2) le sécularisme 3) I'évangélisme 4) le gallicanisme
105. Quel est le courant le plus important de la fin du XVI* siécle qui plonge celle de la Renaissance et
recouvre trés tot la France et I'Europe centrale ?

1) Le classicisme 2) Le Baroque 3) L’ Antiquité 4) Le romantisme
106. Aprés I’Edit de Nantes, pour quelle raison le pouvoir refuse son application ?
Parce que cet édit ....

1) reconnait aux protestants une autonomie jugée dangereuse.
2) aboutirait 4 ["accroissement de |’ autorité des catholigues.
3) conduirait le pays vers la centralisation et 1’absolutisme.
4) pousserait le pays vers la guerre avec ses voisins.
107. Par le triomphe du libéralisme économigque, 1'essor industriel et les profits en résultant créent au
XIX* siécle, les conditions d"une hégémonie de ....

1) la noblesse 2) I’absolutisme
3) la bourgeoisie 4) la Révolution frangaise
108. La courtoisie en tant que phénoméne sociologique et littéraire se développe en France du moment
1) des croisades. 2) des guerres de cent ans,
3) oli se développe le christianisme. 4) ol disparait I"Empire romain de I"Occident.
109, Dans la seconde colonisation européenne au XIXe siécle, quel pays est-il conquis par la France 7
1) L'Inde 2) L' Algérie 3) L'Indochine 4) L’ Amérique centrale
110. Au cours du siécle des Lumiéres qui sont les écrivains qui ont critiqué I’esclavage ?
1} Montesquien et Voltaire 2) Roussean et Voltaire
3) saint Augustin et Montesquieu 4) Diderot et Rousseau

111. Certains critiques voient dans ... une affirmation de I'individualisme narcissique.
1) le courant libertin du XVII® siécle
2) les événements francais de mai 68
3} 'intellectualisme de la fin du XIX® siécle
4) I"ultralibéralisme de la premiére moitié du XX siécle
112. En 1806, comment est-ce que Napoléon répond au blocus maritime anglais ?
1) En leur imposant son empire.
2) En déclarant une guerre atroce.
3) En élargissant ses relations économiques avec d’autres pays européens.
4) En interdisant aux Etats européens de commercer avec la Grande-Bretagne.
113. « Huguenots » est le sobriguet qui désigne les ....
1) protestants de France. 2) les princes catholiques.
3) 'armée du duc de Guise. 4) les catholiques a I’ époque de Henri 1.
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Apres la Seconde Guerre mendiale, le terme sciences humaines a remplacé en France celui de
sciences ....

1) exactes 2) sociales 1) morales 4) positivistes
A partir de quelle période la construction des syndicats est-elle autorisée en France ?
I} Le régne de Louis XIV 2) La Ille Républigue
3) L'Empire de Bonaparte 4) La Premiére Guerre mondiale
L'expression « Temps modernes » s’applique 4 quelle période historique 7 A partir ...
1) de la Belle Epoque. 2) de la constitution de CE.
3) du XVIF au XVIII® siécle. 4) de la Seconde Guerre mondiale.
Parmi les « péres de I’Europe », figurent les Fran¢ais ... et ...
1) B. Olivi / A. Giacone 2) V. G. D’Estaing / S. Veil
3} A, Briand / G. Stresermann 4) J. Monnet / R. Schuman

Emprisonnée, interrogée par un tribunal acquis aux Anglais, elle fut accusée d*étre une sorciére,
condamnée au biicher et briilée vive sur la place du marché de Rouen, le 30 mai 1431. De qui

s'agit-il 7
1} Blanche de Castille 2y Ahénor d° Aquitaine
3) Isabelle de Hainaut 4yJeanne d”Arc

La féodalité nait en France de I"affaiblissement du pouvoir royal, sous les successeurs de ..., au ...
siécle.

1) Henri 1™ / XI° 2) Hugues ler Capet / X°

3) Charlemagne / IX* 4) Charles Martel / VIII®

En France, les hommes ont acquis le droit de vote en ....

1) 1945 2) 1848 3) 1968 4) 1974
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Which statement is true?

1) Babur was a descendant of Nadir.

2) The Mughal Empire was the first Hindu Empire emerged in India.

3) Babur founded the Mughal Empire in the 16" century.

4) Babur, the founder of the Mughal Empire, was originally from Delhi.
Which parts of India were not ruled by Akbar?

1) South

2) North

3) Centre

4) Bengal

Which aspects of Persian culture were imported into India by the Mughals?
1) Persian language, art, ideas.

2) Islamic philosophy and logic.

3) Persian Shia approach.

4) No cultural aspect was imported from Persia.

The Taj Mahal and the Delhi Fort were built under:

1) Akbar

2) Shah Jahan

3) Homayun

4) Mahmud of Ghazni

Who was the governor of the East India Company for thirteen years and the real founder
of British dominion in India?

1) John Morley

2) Sir William Jones

3) Sir Henry Lawrence

4) Warren Hastings

Who did found the Sikh sect?

1) Sir Henry Lawrence died in 1857

2) Baba Nanak died in 1539

3) Aurangzeb died in 1707

4) Jahangir died in 1627

What was the initial theme around which the Sikh sect established?
1) It was a revival of “heart’ religion within Hinduism and was in part a sort of dialogue
between Hinduism and Islam.

2) The British colonizers founded the Sikh sect to further divide the Indian nation.
3) It was a political movement that resisted the invasion of Kashmir.

4} It was a militia movement against the British colonizers.

What sort of sensitivities did lead to the Mutiny of 1857-587

1) Acts of Chnistian missionaries

2) Religious chaos among the Sikhs and the British

3) Religious sensitivities of both Muslims and Hindus

4) Economic chaos among Indian landowners and the British

What was a main factor for which East India Company dissolved?
1} French conspiracy

2) The Mutiny of 1857-58

3) Jawaharlal Nehru’s verdict

4} Gandhi’s nonviolence movement
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130- When did the Indian National Congress start to take the role of a constitutional
opposition to the British?
1) Since its establishment
2) Shortly after the World War I
3} Shortly before the World War 11
4) Since the dawn of the 20" century
131- Who were the leaders of the moderate and extremist wings in the Indian National
Congress in its early years?
1) Hindus and Muslims
2) Warren Hastings and Sir William Jones
3) Mahatma Gandhi and Jawaharlal Nehru
4) Gopal Krishna Gokhale and Bal Gangadhar Talik
132- Who prohibited giving the salt tax and publicized himself by a leisurely sixty-mile walk
from Sabarmati to Dandi?
1) Gandhi
2) Nehru
3) Jinnah
4) Talik
133- In which factors do Hindus radically differ from Muslims?
1) Idolatry; reincarnation; caste
2) Caw worship; having no monk; caste
3) Idolatry; having no marriage; reincarnation
4) Caw worship; eating no meat; eating no fruit
134- Who did found Aligarh College to reconcile Muslims with the Western education system?
1} Mohammad Igbal
2) Mohammad Ali Jinnah
3) Shah Wali-ullah of Delhi
4) Sir Sayvid Ahmad Khan of Delhi
135- Which statement is NOT true?
1) China and Pakistan have usually had good political interrelations,
2) India and Pakistan have had afew boarder wars.
3) East Pakistan achieved independence in 1971 and since then it is called Bangladesh.
4) India has had no war with China after the independence because they shared a common
colonial history.
136- Which Indian Prime Minister and when did start vast economic liberalization policies?
1) Rajiv Gandhi, 1984
2) Indira Gandhi, 1974
3) Narasimha Rao, 1991
4) Atal Bihari Vajpayee, 1998
137- Which one is among serious challenges currently faced by India?
1) A closed economic system
2) Tyrannical political system
3) Population growth rate
4) Government’s interference in economy
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138- In world politics it is widely believed that:
1) India, China and Russia are joining together to threaten US monopoly of sophisticated
weapon trade.
2) The United States wants to control the Chinese giant by supporting India to become an
economic giant.
3) Pakistani army has no interference in terrorist operations inside India.
4) India has no major interest in what is happening within Afghanistan.
139- How much is Indian population about and how many percents are Muslims?
1) 1.2 billion, 13%
2) 900 millions, 15%
3) 1.5 billion, 18%
4) 1.1 billion, 20%
140- Which statement is NOT true?
1} India has sustained a rapid economic growth in last two decades due to economic
liberalization policies.
2) Indian poverty rate has been satisfactorily reduced in line with general economic growth.
3) Indian new middle class take advantage of Indian growth more than the poor people.
4) Indian democratic system has showed to be a great barrier to economic growth,
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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the answer on your answer sheet.

The number of births per year has --------- 100,000 for the first time.

1) surpassed 2) affiliated 3) presumed 4) estimated

The meaning of some ------—-- forms of writing is not always well understood today.

1) ample 2) archaic 3) candid 4) categorical

The party’s position has been —---—— by election success and economie recovery.

1) approached 2) persisted 3) fortified 4) prospered

The pressure group has won a number of ----—-- -- on environmental policy.

1) concessions 2) contribution 3) confractions 4) convictions

The governor of the prison is investigating --- that a prisoner was attacked by a
prison warden.

1) contests 2) prospects 3) endeavors 4) allegations

Your inner strength will enable you to -—-—-—-- life’s problems.

1) turn down 2) pass by 3) prevail over 4) trigger off

The report --------- the difficult issues lying at the heart of the country’s educational
policy.

1) illuminated 2) constituted 3) proceeded 4) overwhelmed

PART B: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your
answer sheet.

PASSAGE 1:

Duncan Black (1908-91) was a Scottish economist, one of the modern pioneers of
analytically rigorous political science. From his time as a student of physics and economics in
Glasgow (1929-33), he dreamt of formulating a ‘Pure Science of Politics” in which any
political system could be represented by a set of definitions and axioms. His most important
contribution, the median voter theorem, came to him in 1942 It states that if all members of a
voting body (committee, legislature, or electorate) recognize one main dimension in politics
(left-right, for example, so that all leftists like the rightmost option least, all rightists like the
leftmost option least, and everybody else dislikes an option more the further it is form their
favourite position), then the median voter’s favourite position will win in any reasonable
voting procedure. Hence the median voter may stand for the whole voting body. The median
voter theorem does not necessarily hold in more than one dimension, as Black was the first to
see, because then there is always the possibility of majority-rule cycling. But where one
dimension dominates the others, as in Congressional committees or (probably) UK voting
behavior in general elections, it is a powerful predictor of convergence on the median voter’s
position. In the long run, politicians who diverge far from this are unlikely to be successful,
even if protected by an electoral system for some time.
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According to the passage, Black ------—-.

1) defined the theorem in a set of ways

2) advanced the theorem as a student of economics

3) was strongly against the UK electoral system

4) favored a well-defined approach to political systems

The word “convergence” in line 14 is closest in meaning to ~=—-=e=---- .
1) rule 2) success 3) agreement 4) control
According to the median voter theorem, ------=-- .

1) most politicians are unlikely to succeed

2) politics is rooted in economics and physics

3) the median position prevails in the long run

4) leftist and rightists are against fair electoral systems

PASSAEG 2:

National Front is a political party formed in 1967 by a merger between a number of fringe
groups whose leaders hoped thereby to establish an extreme-right presence within the political
system. The party’s ‘esoteric’ or ‘insider’ ideology was neo-Nazi and centred upon
nationalism, anti-Semitism, and imperialism, but its *exoteric’ or mass appeal was based upon
exploiting popular opposition to immigration from the New Commonwealth. As such, on
occasions when the established parties were perceived to be flouting public opinion by
allowing sudden influxes of immigrants, the National Front (NF) was able to benefit
electorally, and the party gained dramatic increases in support in 1972-3 and again in 1976-7.
On the last occasion, its success shocked both the left and the right, and the former responded
by establishing organizations such as the Anti-Nazi League while the latter promised tougher
immigration controls. These measures proved effective in countering the NF, which saw its
vote collapse in the general election of 1979. In the wake of this, the party fragmented into a
number of splinter groups. One of these, the British Mational Party, briefly won a local council
seat in a traditional heartland of the far right, the East End of London, in 1993-4, and scored
over 10 per cent of the vote in the 2001 General Election in two seats, both in the northwest of
England, which had seen interracial violence.

The British National Party -—--—-——,

1) is another name for the NF

2) was formed as a fragment of the National Front

3) lost its appeal due to interracial violence

4) was very successful from 1993 to 2001

The phrase “the latter™ in line 10 refers to —————-.

1) the Anti-Nazi League 2) organizations

3) the left 4) the right

It can be understood from the passage that the NF —=--—-----,

1) was established by Hitler 2) was most successful in the 1970s
3) proved most effective in the 2001 election 4) has the same internal and external ideology
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PASSAGE 3:

The British Empire consists of the colonies, protectorates, and territories brought under
British sovereignty from as early as the sixteenth century. In the late nineteenth century, some
in Britain still harbored dreams of expanding the Empire, such as Rhodes and Milner, who
wanted to create a unified Cape-to-Cairo dominion in Africa. However, the South African
(Boer) War (1899-1902) damaged Britain’s confidence in its Empire. In many areas, control
had never advanced beyond indirect rule. Nevertheless, the twentieth century has been a story
of the gradual end of the Empire. This did not look likely following World War I, when Britain
secured control of a number of former German and Turkish territories, as Mandated from the
League of Nations. This meant that the Empire was at its greatest ever size with over 600
million people ruled from London.

At the 1907 Imperial Conference, Australia, Canada, New Zealand, South Africa, and
Newfoundland were recognized as self-governing “Dominions™ (Eire/Ireland was added in
1922). From 1909, the British gradually gave Indians some self-government (Government of
India Acts) and in 1931, under the Statute of Westminster, the Dominions became
‘autonomous communities within the British Empire’. Despite reforms in India, the non-white
peoples of the Empire found their aspirations for self-government thwarted. Only after 1945
did decolonization begin, when Britain found its status in the world greatly reduced by the
costs of World War II. India became independent in 1947, African colonies followed in the late
1950, and with the bulk of the Caribbean colonies gaining their independence in the 1970s, the
process was largely complete by 1980. From the 1920s, the term Commonwealth was often
used to describe the Empire, and this was formalized after World War IL.

The word “thwarted™ in line 16 can best be replaced by ----=-v--- .

1) stopped 2) gained 3) changed 4) recognized
According to the passage, it is NOT true that ————--

1) the Second World War had a negative effect on the British Empire

2) the fall of the British Empire largely began in the 20th century

3) the League of Nations helped Britain be more powerful

4) Britain began to formally rule nations after World War II

MMQNUg)éM)'@Hu)UQhW‘s)b'ue}?T
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186. Which of the following American works is NOT considered as ‘depression-era’ fiction?
1) Nathanael West's Miss Lonelyhearts 2) Henry Miller’s Tropic of Cancer

3) Philip Roth’s Goodbye, Columbus 4) John Steinbeck’s Tortilla Flat

187. The American playwright August Wilson (1945-2005)......cccucnniaiiis

1) produced a version of the classical Faust story, Faustus, in the early 2000s

2) wrote True West, inspired by myths of American life and popular culture, in 1980

3) wrote the one-act absurdist play The Sandbox, with a cast of only five characters

4) is particularly noted for his ‘century cycle’ series of ten plays, The Pittsburgh Cycle

188. Mark Twain’s novel Adventures of Huckleberry Finn (1884) concludes with............coeeeee
1) Huck intending to flee west to Indian Territory

2) Widow Douglas “reasserting’ guardianship over Huck

3) Huck and Jim on a raft moored on to a Mississippi harbour

4) Tom meeting Huck on the ‘wreck of a ship down the river’

189. The American literary figure Ann Bradstreet (1612-1672) is mainly noted as (a).........
1) satirist mocking the domination of English culture in pre-Revolution America

2) colonial American lyric poet of personal poems about family and home life

3) author of the journal published as History of Plymouth Plantation, 1620-47

4) writer the history of the colonies with a view to God's activity in their midst

190. Which of the following about Washington Irving’s Rip Van Winkle (1819) is NOT
TRUE?

1) In the course of the story Rip falls into a sleep which lasts twenty years.

2) The tale starts with Rip living with his wife on the Hudson before the Revolution.

3) The story takes place in an Indian-dominated post-independence western frontier.

4) Despite his long absence, Rip manages to live a happy life in his village after his retumn.

191. The American short story writer Edgar Alan Poe (1809-1849) did NOT write............
1} "The Imp of the Perverse" 2) "The Minister's Black Veil"

3) "The Facts in the Case of M. Valdemar" 4)"The Murders in the Rue Morgue"

192. Which of the following 19™ century American poets is NOT regarded as a
Transcendentalist?

1) Ralph Waldo Emerson 2) Henry David Thoreau

3) Margaret Fuller 4) Henry Wadsworth Longfellow

193. Frederick Douglass’ Narrative of the Life of Frederick Douglass (1845) is a....ccicicinnne
1) memoir and treatise on abolition written by the famous orator and ex-slave

2) fictional account of the writer’s life as a slave in the American South

3) literary manifesto on the necessity of abolishing of slavery in America (and England)

4) real historical narrative of the writer’s importation as a slave from Africa to America

194. Writer / work do NOT match in.................

1) William Dean Howells /| The Rise of Silas Lapham

2) Frank Norris / The Marble Faun

3) Herman Melville / The Confidence-Man

4) Edith Wharton / The House of Mirth

195, 1. D, Salinger’s Seymour: An Infroduction (1959)......ccuia.

1} tells the tale of an undergraduate who is becoming disenchanted with the selfishness and
inauthenticity she perceives all around her

2) commences with Holden Caulfield describing encounters he has had with students and
faculty of Pencey Prep in Agerstown, Pennsylvania

3) is an attempt by the fictional character Buddy Glass to introduce the reader to his brother,
who has already committed suicide

4) is a Bildungsroman loosely based on the author's observations of family and neighbours at
the age of 10 in and around near his hometown
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196. Arthur Miller’s play A View from the Bridge (first performed in 1956).......cccccerueecnassanna
1) takes place (unusually for Miller) in a London area near Westminster bridge

2) is set in an Italian American neighbourhood in 1950s New York

3) occurs in a mythical setting, taken to represent modern day America

4) is set in a poorly-developed estate close to ‘a large suspension bridge’ in California

197. Allen Ginsherg’s poem Howl (1955) opens with.. Sk

1) “1 walked on the banks of the tincan banana dock and sat dnwn

2) %1 want to be known as the most brilliant man in America..

3) *What thoughts of I have of you tonight, Walt Whitman,.. .“

4) “I was the best minds of my generation destroyed by madness,...”

198. Which of the following works by Don Dellilo (born 1936) concerns a survivor of the
9/11 attacks and the effect his experiences on that day have on his life?

1} Cosmopolis 2) Americana

3) Great Jones Street 4) Falling Man

199. Toni Morriosn’s novel................is based on the story of an African-American slave
in post-Civil War years, who escapes slavery by fleeing to a free state.

1) Song of Solomon 2) Beloved

3) Tar Baby 4) Paradise

200. The American novelist James Baldwin (1924-1987)... - 2.

1) wrote Go Tell It on the Mountain on the role of the Chnstlan Church n the lives of African-
Americans

2} dealt with the repression directed at the African-American in his 1955 book of fiction Notes
ofa Native Son

3) narrates his Invisible Man in the first person by an unnamed African American man who
considers himself socially invisible.

4) tells of the hardships black writers and artists underwent at the turn of the {ED'“} century
America in his Another Couniry

MN%“U’)Q“}‘@“)UQ&W"}&?'ug)?‘i
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201. BribepHTe NpABHILHLII BAPHAHT.

Hewssa cHIET b HeJbili JeHb A0MA, ..... HAA0 CX00HT b IOTYJIAT b

1y kyna-To 2) Hekyna 3) nuKyna 4) Ky ma-aHOY 1k
202, ..... OPOIYKT TPYAa HOCTYNAET HA PLIHOK, OH CTAHOBHTCH TOBAPOM.

1) Ecnn 661 2) Nockoneky 3) Kak Toasxo 4) Xora
203. Kakoe onpeiesense He COOTBETCTBYET A3LIKOBOI HOPMeE PYCCKOro S3biKa?

1) mecTepo KeHNHH 2) narepo Hac 3) ceMepo KORNMAT 4) nBoe 04KOB
204, BribepHTe NpaBHAbHBIN BAPHAHT.

Jobyio RpHBEMKY ..... T PYAHO.

1) DOKHTE 2) 3aKHTE 3) OTHHTE 4) HIKHTE
205. Hapoanast MyIpocTh IIACHTE: B KOJ0El He/1b3H ..... .

1) cmoTpeTh 2) niesath 3) mpeiraTh 4) KpHHATh
206. D710 JeKAPCTRO JA0KHO DBICTPO (... TeDe 0DAErIEHHE.

1) neperecTH 2) mpHBE3TH 3) npHHECTH 4) noHecTH
207. BuibepuTe npaBnibLHLII BApHAHT,

B cBoeM pacckaze oM ..... K H3HE palo9HX CBOEro 3aBoJa,

1) omucan 2) sanmAcan 3) erican 4) nonmcan
208, Jo/HA CYIECTBOBATD v MERTY BOCTHTAHHEM H NPHHYKIEHHEM.

1) NOrHYHEI rpaHk 2) pasyMHEL rpaHe

3) uenecoodpazHEIl rpals 4) pazymMHad rpaHb
209. K kakomy $ppazeonorusmy noaodpas HenpasHIbHbI cHEOHEMT

1) pykoit mogars — GAH3IKO 2) KypBl HE KIIIOHT — MaJIo

3) KAk CHEr Ha roJIOBY — HeOXH IaHHO 4) HH CBET HH 3aps — OYeHE PAHO
210. Ilepexox mAPHBIX 3BOHKHX COTVIACHBLIX B IAPHEBIE TYXHE HAILIBAETCH ... -

1) 03BOHYEHHEM 2) cMArdYeHHeM

3) orayeHHeM 4) oTBEpH ACHHEM
211. Haiinure DesnHMHOE NPeLIOKeHIE,

1) Jloma He canuTea. 2) Hananu Ha nOpOXKKy B JIECy.

3) HacTynuno naTHAZUATOE Mad. 4) OHO OCTAHOBHATCH.
212. CTpykTypa OPraHos MeCcTHOTO CAMOYNPAB/JIEHHA ONpelefercd B KAXA0M PerHoHe ...

CAMOCTOATETBLHD.

1) mns HaceneHus 2) ¢ HaceneHHeM 3) HaceneHHns 4) HaceneHHeM
213, Bribepure BapHaHT BOOpOCa, KOTOPBIA COOTBETCTBYET 3IHAYCHHI0 BhIISJIECHHOIO
BbIpam#eHH A,

B3nmsuyB BBepx, B T eMHOT ¥, Anapeii MoAHa1 BOPOT HHK HAILT 0 H He T OPONACh Iolred
YEPE3 MTOMIATE.
1) korga? 2) xa? ¥) nogemy? 4) TaK kax?
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214. H noyrkes ..... K CROHM HOBLIM COCeIsM.
1) BcMOTpeTRCH 2) NPHCMOTPETH 3) npHCMOTpETHCA 4) nocMoTpeTh
215, ... CALIMIATCH FOJIOCA: HAET COBENIaHHE,
1) W3 nexanara 2) Ot nexanara 3) C neranara 4) ¥V nexanara

216. Crapuer spagerca repoem pacckaza A0l Yexona ......
1) "Hoxwig" 2} "llonpeiryaea”
3) " Mama ¢ cobauxoii” 4) "Xameneon"

217, coee — 310 HeDONBLINOIH ATErOPHYECKHI PACCKAS € NOYYHTETBHEIM BRIBOMOM.
1) Ioama 2) 3aranka 3) IocnopHma 4) bacHa

218. Kaxoii smmazon B mosve "Muoeipu' M.EO. JlepmonrToBa ABJAfeTcs KYJABMHHALHOHHBIM?

1) BeTpeda ¢ MOMOIOH TPYIHHKON 2) "necus peibok”
3) Go# ¢ Dapcom 4) nober U3 MOHACTEIPA
219. TaTeaHa - rAaBHAS FePOHHA POMAHA ... .
1) "Eprenuit Onerun” A.C. ITywkuua 2) "Bo#nra u mup” JLH. Toncroro
3) "Oruw u pern" U.C. Typrenesa 4) "I'epoii nawero spemenn” M.IO. JlepmonTora

220. ..... 00BABHAH BbICIEH LEHHOCTBI) Yel0BeKa, NMOTPefHOCTAM KOTOPOro AOMAKHLI OTBEHATH

roCy1apcTBEHHBIE 3AKOHLI H YYpeAIeHHA,
1} Peanunctel 2) CeytumenTtanuerel  3) POMAHTHKH 4) KnaccHUHCTh!

221. Koro JLH. Toacroit uasean "Ilymkuneim B npoze”?

1) .M. Jocroeeckoro  2) ATl Yexora 3) AM. lNopekoro 4) U.C. Typreuesa
222. Tlpoussegenne H.A. Hekpacoga ..... cOcTOHT M3 AByX yacteii: "Kuaruua Tpybeuxas" u "Kuasruns
Boakonckan'.
1) "Komy Ha Pycu muTe xopowo” 2) "Tpoiika"
3) "Pycckue xeHIUMHE" 4) "Mopo3s, KpacHeIi Hoc"

223, ..... CTPEMHJIHCH K AKTHBHOMY npeo0pajoBaHHio JeHCTBHTENLHOCTH, K NPAKTHYECKOMY
OCYIIECTB/AEHHIO CBOHX BBLICOKHX Haeanos. I'epoil WX npon3iBeneHHii Beerjla aKTHBEH,

MOJIOH CHIL
1) ITporpeccHBHBE pOMAHTHEH 2) KoHcepBaTHRHEIE POMAHTHEH
3) JleMOKpaTHIEeCKHE CEHTHMEHTATHCTE 4) JIBopaHCKHE CeHTHMEHTATHCTEL

224. Tlpomseenenne @M. [locToescxoro ..., vanncan B opme "IMHCTONAPHOTO poMana'.
1) "bpates Kapamazose" 2) "bepnsie mogu” 3) "Mmmot” 4) "[Ipoiinuk"

225. Kakoe u3 nazsannbix nponssenennii ne npunayiexar H.C. Typrenesy?
1)"Hoss" 2) "Jpoa" 3) "Haxanyne" 4) "lNoapocTok”

226. B npecax "Tanante! # nokaoHHHKH" B "Be: uHbl BuHoBaThie'! AH. OcrpoBcekmii
PHCYET HHIHB ..... .

1) axTepor M moaeil 1 MHpa TeaTpa 2) KpectbsH mociie pedopmbl 1861 roga

3) nomemukop nocne pedopmer 1861 roaa 4) "ManeHbpKHX mHogei”
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227. Cnapuas tema cruxorsopenns "Ayma'" M.IO. JlepMonrosa — 9710 ..... .
1) o soiine 1812 1.
2) moGoeb Kk Pogune
3) oDluecTBEHHOES MOBEJEHHE YeI0BEeKA
4) unelinele yeTpeMieHns nepeaosbix momuei 30-x u 40-x rogos 20 sexa

228. B.I'. BeanHckuii HA3BA POMAH ..... "JHNBKIONEIHEH pyceroi wu3un'',
1) "O0mKHOBEHHAS HCTOPHA" 2) "EBrennii Onernn”
3) "T'epoii namrero speMeHn” 4) "[IpecTynnenue H Hakazanue"

229. .....—3T0 NecHs-cKA3aHKe 0 HoraTeipsax U HeTopHYecknX cobmiTuax dpesneii Pycu,
1) Merenna 2) Brutuua 3) YacTvimka 4) Ilooma

230. O uem pacckaswiBaerca B "Ciose o monky Hropese'?

1) O 6urBe CrATOCIABA C MONOBIAMH, 2) O noxope [lerpa I ma nonoeues.
3) O 6nree Bnagamupa MosoMaxa ¢ noaosnaMi.  4) O noxofe kusss Onera Ha NOIOBIEE,

M}M%hd’)éM}‘@“)UQ‘GW'S)b'@PT
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Partie B : Francais général
Complétez les phrases suivantes en cochant la réponse correcte :

231. Le nouveau chef ... est méprisé ... tout le monde ne parvient pas ... maitriser la situation.

1) qui/par/a 2)qui/de/a 3)qu’ /devant / de 4) dont / par / de
232. Son attitude est ... effrontée qu’elle devient arrogante.

1) aussi 2) trop 3) 4 tel point 4) tellement
233. Jai fait cette introduction pour que vous ... SUr mon propos.

1} éclairassiez 2) sovez éclairé 3) vous éclairiez 4) sovez éclairés
234, 8’ils ... mienx conseillés, ils ... autrement.

1) avaient été / auraient agi 2) seraient / auraient agi

3) ont été / agiteraient 4) étaient / agitaient
235. Des ... bourdonnaient au crépuscule.

1) cerfs-volants 2) cerf-volant 3) cerfs-volant 4) cerf-volants
136. J'ai ... ma sceur 4 la gare et je ’ai ... an départ du train.

1) accompagnée / quittée 2) accompagné / quittée

3) accompagné / quitté 4) accompagnée [ quitté
237. Transposer au discours indirect : « Quelle heare est-il 7 » Il lui demanda ...

1) I"heure qu’il était. 2) quelle heure il était.

3) si elle avait I"heure. 4) 5’1l avait une heure.
238. Dans la phrase suivante : « il sont fort imprudents », « fort » est ...

1) un adjectif qualificatif 2) un épithéte

3) un adverbe 4) attribut
239, Un défaut qui s’est fortifié avec le temps est ...

1) novice 2) inhabituel 3} naissant 4) invétéré
240. Cet événement est ..., il n*arrive pas par hasard.

1) inopiné 2) fortuit 3) appréhendé 4) impromptu
241. Des embarras gui ont rapport & "argent sont ...

1) creux 2) futiles 3) oiseux 4) pécuniaires
242. Une discussion qui ne sert & rien est ...

1) capitale 2) oiseuse 3) salutaire 4) vitale
243, Une métaphore qui est défraichie a force davoir servi est ...

1) authentique 2) originale 3) insolite 4) éculée
244. Ce voyage est ... et occasionne de grands frais.

1) gratis 2) bénévole 3) avenant 4) onéreux
245. C’est un texte ... qui dit plusieurs fois la méme chose.

1) laconique 2) redondant 3} succinct 4) précaire

Partie C : Littérature
Répondez aux questions suivantes en cochant la réponse correcte :

246. D’oii vient le mot barogue 7
1) De barocco, nom portugais qui désigne 'irrégularité d'une perle.
2) De Giuseppe Barrochi, savant astronome siennois.
3) De Baroco, petite fle de la Méditerranée.
4) De barocca, nom de chateau en Italie,
247. Télémaque de Fénelon est un roman pédagogique pour enseigner ...

1} le bon sens et la justice. 2) I’art de bien gouverner.
3) I"art de bien parler. 4) I'art de vie.
248. Le mouvement qui raffine sur le sentiment amoureux, en maniant une langue particuliérement
choisie s*appelle ...
1) la pléiade 2) la préciosité 3) a préciosité 4} le maniérisme
249, Quelle célébre utopie trouve-t-on dans les Letires persanes de Montesquieu? Celle des ...
1) Phalanstériens 2) Amorautes 3) Lilliputiens 4) Troglodytes
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250. Par quelle piéce Moliére se fait-il d’abord connaitre a Paris ?
1) Le Bourgeois gentilhomme 2) Le Malade imaginaire
3) Le Médecin volanit 4) Les Précieuses ridicules
251. Quel sous-titre suit-il le titre principal : Micromégas de Voltaire ?
1} Contes philosophigues 2) Histoires philosophigues
3) Entretiens sur la pluralité des mondes 4) Histoire des Etats et des empires de la lune
252. A cause de quel livre Diderot fut-il soupgonné d*athéisme, et emprisonné ?
1) La Lettre sur les boiteux 2) La Lettre sur les aveugles
3) La Lettre sur les manchots 4) La Lettre sur les sourds ef les muets
253. Quel événement est & 'origine de Iorganisation chronologique du recueil de Victor Hugo, Les
Chitiments ?

1)} La révolution de 1830,
2) La mort de sa fille Léopoldine en 1843,
3) Le coup d’Ertat de Napoléon LIl en 1851.
4) La chute de I'Empire et la proclamation de la République en 1870.
254, L’autoportrait, contrairement a I"autobiographie, est plutot ...
1) chronique 2) diachronique 3) synchronique 4) chronologique
255. Dans Les Mofs, Sartre veat ...
| ) montrer qu’il est un écrivain raté,
2) démystifier sa vocation d’écrivain.
3) souligner sa complicité avec Simone de Beauvoir.
4) construire son autobiographie sous forme d’un abécédaire.
156. Dans Wow le souvenir d’enfance, Perec tente de se délivrer d*une doulourense obsession. Il s’agit ...
1) de la mort de ses parents dans les camps nazis.
2) de la honte d’avoir abandonné ses enfants,
3) du remords d’avoir parlé sous la torture.
4) du suicide d’un grand-oncle paternel.
257. Colette écrit Sido pour ...

1} guérir d*un traumatisme. 2) faire une critique acerbe de la famille.
3) rendre hommage a sa mere disparue, 4) exalter la musigue et son pouvoir sensuel.
258. L’héroine de L’Amant et celle du Barrage contre le Pacifique de Duras ont passé leur enfance ...
1) en Indochine. 2) en Allemagne. 3) en Russie. 4) en France.
259. Aragon, en 1956, dans un recueil poétigue, présente son parcours politique et amoureux. Il s’ agit
de ...
1) Aurélien 2) Les beaux quartiers 3) Le Roman inachevé  4) Le Pavsan de Paris
260. Quel dramaturge francais a fait pour la scéne, dans les années soixante, une adaptation des
Troyennes d’Euripide ?
1) Sartre 2) Giraudoux 3) Cocteau 4) Anouilh
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261- En mi opinidén, no existen las dietas mégicas, es mas, creo que es --------- que haya tanta
publicidad sobre ellas.

1) elogiable 2) admirable 3) perdonable 4) escandaloso
262- Pon el que quieras. Me encantan todos los discos de este grupo. -————-—-- de ellos es
fantastico.
1) cual 2) cualquiera 3) cualquier - 4) cualesquiera
263- Este comentario hace referencia --—----- - lo que se discutio el otro dia.
1) entre 2) de 3)en 4) a

264- Isabel estd contentisima con su nuevo apartamento, tanto que ultimamente le -
por invitar a todo el mundo a visitarlo.

1) da 2) parece 3) gusta 4) apetece
265~ —==mmmnmm como se enteraron de lo ocurrido fueron a visitar a la familia.

1) No bien 2) Nada mas 3) En cuanto 4) Tan pronto
266- Esta chica duerme siempre muchisimo, es increible.

- Déjala, que esta muy cansada. Trabaja ----—---- tarde.

1)a 2) por 3) hasta 4) desde

267- Lo compramos hoy mismo, ;no?
-iYo qué sé! No corre tanta prisa. Si no lo compramos hoy, ya lo ———--——-—--- -
1) compramos 2) compraremos 3) vamos a comprar  4) habremos comprado
268- Si uno tiene problems de peso, lo ---- &8 que vaya al médico y que el médico le diga
lo que tiene que comer y lo gque no.

1) justo 2) manera 3) aconsejable 4) de buena educacion
269- ; De quién es la poesia desnuda?

1) Ramdn Maria Del Valle-Inclan 2) Juan Ramén Jiménez

3) Pedro Salinas 4) Miguel Delibes
270- El comienzo del Romanticismo en Espana se debe, sobre todo, a — -

1) los intercambios culturales enire Espafiay Africa
2) la emigracién de los conservadores de Espana.

3) la publicacién de la obra maestra de Fernando de Rojas.
4) la vuelta de los emigrados liberales a Espana con motivo de la muerte de Fernando VIL.

271- La obra de José Cadalso, llamada Cartas Marruecas, es tomada de ---—-——,

1) Lettres Persanes de Montesquieu 2) Cartas del Alma de autor desconocido
3) The Scarlet Letter de Nathaniel Hawthorne 4) Cartas literarias a una mujer de Becquer
272 e - en verano tendremos més dinero, nos quedaremos de vacaciones aqui.
-Tienes razion, alli el clima v las playas son peores.
1) Si 2) Aunque 3) Hasta que 4) Mientras
273- Mi padre esti muy preocupado con aquello que te conté de su trabajo.
- Dile que no es para tanto. Cuando menos lo -—----- siempre surge la solucion.
1) esperamos 2) hemos esperado 3) esperdaramos 4) esperaremos
274- Juan, me parece que se ha terminado el plazo para pagar los impuestos.
Si, pero yo fui antes de que -—-----—----- .
1) se acabe 2) se acabara 3) se acabara 4) se haya acabado
275- Seguramente saldremos de madrugada. ------- -- nieva, claro.
1) Excepto si 2) Menos que 3) siempre que 4) A no ser que
276- Esta —- de envases y envolturas ha traido consigo un incremento de basura que no
creo gue nadie pueda contar.,
1) falta 2) acopio 3) escasez 4) profusion
277- Aunque habian dicho que era un hotel de cinco estrellas, no me parecié que --—--- - tan
bueno.
1) sea 2) seria 3) fuera 4) haya sido
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278- ;Qué considerado eres ---------== las personas que te interesan!
1) con 2) para 3) de 4) en
279- Mi padre me dijo que como no ----—----- todas las asignaturas, me quedaria sin
vacaciones este ano,
1) aprobaré 2) aprobara 3) apruebe 4} apruebo
280- A Juan le dio mucha tristeza que 08 -=-------- tan pronto.
1) marchéis 2) marchariais 3) marcharéis 4) marcharais
281- No sabes ——=aeauns buenas que son.
1) las 2) los Jla 4) lo

282- El estilo literario elaborado que evita la naturalidad tipica del Renacimiento se conoce
COMO ---mmmmmmm,

1) Humanismo 2) Manierismo 3) Barroco 4) Coplas
283- El gran representante de la poesia mistica fue ------ —eeess

1) Lope de Vega 2) Arcipreste de Hita

3) San Juan de la Cruz 4) Garcilaso de la Vega

284- ; Qué fue la Contrarreforma?

1) Movimiento politico que primero surgid en América Latina y luego llegd a Espana.

2) Escuela literaria que existia en ia Edad Media entre los nobles v el estado Ilano.

3} Movimiento social del siglo XVII provocado por los protestantes.

4) Movimiento en el siglo XVI que surgié en la iglesia catolica frente a la reforma protestante.
285- ;De quién es el Libro de Buen Amor?

1) Juan Ruiz, Arcipreste de Hita 2) Garcilaso de la Vega

3) Francisco de Quevedo 4) Lope de vega
286- Ponerse morado es ---------- .

1) enfadarse. 2) comer mucho. 3) avergonzarse, 4) pasarlo muy mal
287- Estos ninos nunca hacen caso de su padre cuando les regana, —-----—- ---

1) viven como un rey. 2} son como un demonio.

3) les gusta comer como un cura. 4) le toman por el pito del sereno.
288- Puedes pasar, se han ido todos, no hay -------- --=- ¢n la costa.

1} moros 2) indios 3) suecos 4) americanos
289- Manolo tiré ---------- y se descubrid toda la corrupcion que rodeaba al Ministro.

1) la casa 2) la toalla. 3) de la manta 4) del armario
290- Juan es insoportable. Yo sé cusl es su problema: no tiene dos dedos de frente.

1) no es guapo. 2) no es inteligente.

3) no tiene dinero. : 4) no hace caso a nadie.
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291- Viele Vertreter der literarischen Epoche ,Realismus* benutzen den Humor als ein

stilistisches Merkmal, ---------- .

1) um den realen Umstinden der Zeit neue Impulse zu verleihen

2) um die Wirklichkeit des Alltags in grotesken Ziigen wiederzugeben

3) um die realen gesellschaftspolitischen Probleme ins Liicherliche zu ziehen

4) um die Distanz zu dem eigentlich Unertriglichen der Wirklichkeit zu schaffen

202- e ist ein besonderes Merkmal der literarischen Epoche ,,Romantik*,

293-

294-

1) Ironie 2) das Groteske 3) das Komische 4) das Tragische

Ohne ---—- ist die Kurzgeschichte als ein literarisches Genre in der Literaturwissenschafi
nicht vorstellbar.

1) den Humor 2) die Lakonie 3) das Groteske 4) die Parodie
Faserland von Christian Kracht aus dem Jahre 1995 liutete die Entwicklung einer neuen
literarischen Richtung namens -----—-=- in der deutschen Literatur ein.

1) Popliteratur 2} Trivialliteratur

3) Postmoderne Literatur 4) Transmoderne Literatur

295- Der erste Briefroman in der deutschen Literatur ist -——--c—=—eee- .

296-

297-

298-

299-

300-

301-

302-

303-

1) Sophie von La Roches Geschichte des Friuleins Sternheim

2) Johann Wolfgang von Goethes Die Leiden des jungen Werthers

3) Gotthold Ephraim Lessings Emilia Galotti

4) Christoph Martin Wielands Geschichte des Agathon

Die Ballade ist —----------- .

1) eine Prosa aus dem Leben der Heiligen

2) ein Gedicht mit dem Hang zur Mythologie

3) ein Gedicht mit episch-dramatischen Inhalten

4) eine Prosa mit der Orientierung an dramatischen Stoffen

Die Aufkliirung wirkte durch die Idee —-=--=--=---- .

1) der Toleranz 2) des Biirgertums

3) des Feudalismus 4) des foderativen Staates

In der Geschichtsdichtung wird die Geschichte .

1) so, wie sie in der Geschichte ist, dargestellt

2} so, wie sie in der Geschichte geschehen ist, dargestellt

3) aus der Perspektive der Geschichtsschreiber dargestellt

4) im Sinne des Autors der Geschichtsdichtung dargestellt

Ein besonderes Merkmal dieses literarischen Genres.ist: Die Leute sprechen nicht
miteinander, sie sprechen aneinander vorbei. Welches Genre ist hier gemeint?

1) Die Satire : 2) Die Anekdote

3) Das absurde Drama 4) Die tragische Komddie

Die neuwe Richtung der deutschen Literatur in den 70er Jahren, die Themen wie
persinliche Triiume und Probleme des Privatlebens in den Mittelpunkt stellte, hiels ...
1} Neue Objektivitit  2) Neue Subjektivitiit  3) Neue Romantik 4) Neue Klassik

Wl Gl jgsews
Wer keinen Fahrschein hat, ---—----eev nicht in den Zug einsteigen!
1) kann 2) muss 3) will 4) darf
Dank sein --—---- technisch ------ Fiihigkeiten ist Ronaldo sehr schwer vom Ball zu trennen.
1) -es/ -en 2)-en /-en 3) -er/-en 4) ) -er [ -er
Sabine salf -----a------ Stuhl und las ---—----—-- Buch,
1) auf dem / ins 2)im/im 3) auf dem / im 4) im / ins
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304- Eine Katze -==-=--—-- in das Rohr --------— und konnte nicht mehr heraus.

1) war / gekrochen 2) war / gekriecht 3) hatte / gekrochen  4) hatte / gekriecht

305- Es wiire besser, si¢ ——=—----=-- sich um ihre Priifung kiimmern.

306-

307-

308-

309-

310-

311-

1) wire 2) hiitte 3) wurde 4) wiirde

ol
»wDu bist genau so ein verriickter Triiumer wie dein Vater. Na ja, -——-—-—- fiillt nicht weit
vom Stamm!*
1) der Baum 2) der Apfel 3) das Obst 4) der Ast
Als Jugendlicher geriet Karl sehr friith auf die schiefe ——----- und verbrachte viele Jahre
im Gefiingnis.
1) Bahn 2) Bande 3) Richtung 4) Ebene
Auch Oliver denkt immer dfter an eigene Familie und wird frither oder spiiter unter die -
kommen.
1) Haut 2) Kappe 3) Haube 4) Luppe
Die alte Frau wollte dem Bengel gleich die Ohren lang ziehen, weil er sich sehr -—-----—-—---
benahm.
1) unhdéflich 2) gelassen 3) anstindig 4) korrekt
Er steht total —-—------ Pantoffel. Seine Verlobte kiisst ihn kaum allein aus dem Haus.
1) hinterm 2) vorm 3) tiberm 4} unterm

P adie 5 53
In Nordkorea trauvern nach dem Tod von Militdrmachthaber Kim Jong 11 weiter Millionen
Menschen. Allein in der Hauptstadt hitten fiinf Millionen Menschen Statuen und Portriits von
Kim aufgesucht, berichtete die nordkoreanische Nachrichtenagentur KCNA. Trotz einer
Kontaktsperre will Siidkoreas Regierung private Beileidsbekundungen an Nordkorea zulassen.
Einzelne Biirger oder Organisationen diirften grundsétzlich per Fax oder Email
Beileidsschreiben zum Tod Kim Jong Ils ans WNachbarland schicken, teilte das
Vereinigungsministerium in Seoul am Mittwoch mit. Allerdings miissen sich die Gruppen oder
Personen vorher eine Genehmigung dafiir erteilen lassen. Nach siidkoreanischem Gesetz
miissen alle Kontakte mit dem kommunistischen Nachbarstaat genehmigt werden. Seit ithrem
Bruderkrieg von 1950 bis 1953 befinden sich beide vilkerrechtlich weiter im Kriegszustand,
da immer noch kein endgiiltiger Waftenstillstand vereinbart wurde. Die Regierung in Seoul
hatte am Dienstag selbst seine Anteilnahme fir die Beviélkerung des Nachbarlandes
ausgesprochen. Zugleich machte sie aber klar, keine eigene Beileidsdelegation nach Nordkorea
zu entsenden. Der Diktator war nach Angaben der nordkoreanischen Medien am Samstag im
Alter von 69 Jahren wihrend einer Bahnfahrt an den Folgen eines Herzinfarkies gestorben.
Kim Jong Il hatte die Macht 1994 von seinem verstorbenen Vater und «ewigem Prisidenten»
Kim Il Sung iilbernommen. Er regierte das Land 17 Jahre lang mit eisermer Faust. Unter seiner
Herrschaft starben nach Schiitzungen Hunderttausende von Menschen vor Hunger.

Laut siidkoreanischem Gesetz sind die Kontakie seiner Biirger mit der Bevilkerung
Nordkoreas --------- == erlaubt.

1} nur unter Umstéinden 2) im neutralen Boden

3) uneingeschrinkt 4) in keiner Weise
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312- Auf welche Weise zeigte die siidkoreanische Regierung ihre ,,Betroffenheit* iiber den Tod

313-

314-

315-

316-

317-

318-

319-

320-

Kim Jong Ils?

1) Sie versetzte ihre Truppen in Alarmbereitschaft.

2) Sie sprach den Nordkoreanern ihr Mitgefiihl aus.

3) Sie schickte eine Beileidsdelegation nach Pjéngjang.
4) Sie hob das Reiseverbot nach Nordkorea vorldufig auf.

Unter Kim Il Sung starben in Nordkorea Hunderttausende Menschen infolge --——-————--.
1) einer tdlichen Seuche 2} der verheerenden Hungersnot
3) der anhaltenden politischen Unruhen 4) des Kriegs mit den Nachbarlindern.
Vilkerrechtlich betrachtet, befinden sich die beiden Koreastaaten immer noch nicht
1) in Waffenruhe 2) 1im Stellvertreterkrieg
3} im Friedenszustand 4) im Kriegsstatus
Welche Uberschrift passt zum Text am besten?.
1) Die léstige Bahnfahrt 2) Das Erbe eines Biirgerkriegs
3) Traver um Kim Jong Il 4) Kontaktsperre endgiiltig aufgehoben

oS |
Welche Schreibung ist aktuell richtig?
1) numerrieren 2) numerieren 3) nummerrieren 4) nummerieren

Sie ging ins - —er blieb im Wohnzimmer
1) Schlafzimmeruwa  2) Schlafzimmer,una 3) Schlafzimmer.wd  4) Schlafzimmer - und

Ich habe mich zu treffen.

1) gefreut Sic 2) pefreut; Sie 3) gefreut - Sie 4) gefreut, sie
Welche Schreibung ist aktuell richtig?

1) belemert 2) beldmert 3) belimmert 4) belemmert
Das richtige Adjektiv fiir ,Potenz* in der neuen Rechtschreibung ist ,,---------- e
1) potenziel 2) potenziell 3) potenciell 4) potenciel



